1 ]

A ClassNovs SSE 50

SECOND YEAR HIGHER SECONDARY SECOND TERMINAL
EVALUATION, DECEMBER 2019
Part — III
ACCOUNTANCY WITH COMPUTERISED ACCOUNTING

Maximum : 60 Scores

Time : 2 Hours
Cool-off Time : 15 Minutes

@eneml Instructions to Candidates : )
* There is a ‘Cool off time’ of 15 minutes in addition to the writing time of 2 hrs.

* You are not allowed to write your answers nor to discuss anything with others during
the ‘cool off time’.

* Read questions carefully before answering.

* Calculations, figures and graphs should be shown in the answer sheet itself.
* Malayalam version of the questions is also provided.

* Give equations wherever necessary.

* Electronic devices except non programmable calculators are not allowed in the
Examination Hall.
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PART - A
ACCOUNTANCY (40 Scores)

Score

I. Answer all questions from 1 to 5,
each carries 1 score.

1) Partner’s Current Account shows
a) Always credit balance

b} Always debit balance

c) Debit or credit balance

d) No balance at all

2) At the time of admission of a new

partner, the amount of goodwill
already appears in the Balance Sheet
of the firm should be written off by
crediting

a) All Partners Capital Accounts

b) Old Partners Capital Accounts

¢) New Partner’s Capital Account

d) Goodwill Account

3) Which of the following is debited
to the Revaluation Account, on
reconstitution of a partnership firm ?
a) Increase in assets

b) Decrease in liabilities

¢) Unrecorded liabilities

d) Unrecorded assets

4) Unless otherwise agreed upon, it is
assumed that the continuing partners
acquire the retiring partner’s share of
profits in

a} Capital ratio b) Old ratio

c¢) Equal ratio d) None of these

(5x1=5)

I

| NORE A A

Score
1 aymad 5 cueow)as agel aalis)emudano
gomeeaviys. 1 smpod aflme.  (5x1=5)

1) umodlw)es &0 @nonvens
06BN M@
a) ag)sa oo el eruoaImy
b) agenjorvie ewsniig eruoaicdmy
¢) ewenlig/eealg enuseiabay
d) adesayo sruseitdmy &g

2) ayafl@ a108l@ues (IERILM MWD,
eruoeindoy adfidlad afleiafleyas vyasadiad
s Hemasilad aflomye ¥icuoeMs]
myectsndl Ol ©.0ICQYENS ERHEIENE
oo ?

a) e alme0ElmaESmo MRl
BOHE) V6D

b) arew aismoeleains ayalwm
BOLO VNS D

C) alafie aeodlalans aeiwm @oeaens

d) uyawiadin? @osaoens

3) aug0el@m ROAIMETTIER aljm:MotaISMm
@IOS MOETE IR PELan @oHerenSiad
ewenilg e.01cgeNE Mo af® ?

a) @pmplaans cudavmiol

b) 60w meaIes dyond

C) GREUOQSITTIMEER SO JOEUD
d) ensueg|semomes Eoyle:ud

4) eotomo® oloymomo eegelad, el
m@iied @S al@Igledd, alledlenm
alsosles esailadime apepsieaME

a) @melwm @rmynIomxoTilad
b) ars® @emaoEiad
C) ®iel) @omyalomaTiiied
d) socueormymgy
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5) The deceased partner’s share of | 3) 20Meqlg almogles aidlesnsns @msaandel
esetio (acemenysim dloaiouacoes

interim profit (profit upto date of N
aneo) nllafimo aQe @peaverdiea s

death) 1s debited to ewsnilg e.nlegeneae ?
a) Profit and l.oss Suspense Account a) £loB-MagY TXIEIDNS @owervens
b) Profit and Loss Appropriation b) ene-may e b lewanad @odasroeng
Account C) 2EEMeS alBgmIes aeluxm
¢) Deceased Partner’s Capital Account ®OBEYENE
d) Executor’s Account d) @mOme EOOBIEISAINS @R DTS
II. Answer any 4 questions from 6 to 10, I1. 6 qymad 10 cueowgs eanaejrmgled
each carries 2 scores. {4x2=8) 4 agieedioy gemeanv)m)e. 2 eapd
afl@o. (4%2=8)

6) Anil and Shivi are partner’s in a

firm. Both the pariners withdraw
Rs. 5,000/- per month trom the
business for their personal purposes
during 2018 —19. The partnership deed
provides for interest on drawings ‘@
10% p.a. Anil made all the drawings at
the beginning of each month but Shivi
at the end of each month. Calculate
the amounts of interest on drawings
to be charged from both partners on
31-03-2019.

7) Shiju and Rajesh are_pértners in a
firm. sharing profits in the ratio of 2 : 1.
They decided to admit Sareesh as a
new partner for * 17 ” share in profits.
Calculate the new profit sharing ratio
of the reconstituted firm.

8) State the two rights enjoyed by a

newly admitted partner from the
firm.

6) mocilad, oflafl agyemlcud mﬂmﬂmq;g”
al806lma06m). EnCUD MENRIGAIMo MOMO
5,000 @it aflmo enflodlmqflad aflomyo
)00} @RI jsTmdenca 2018-19
cudeaxtavaied aflodouellesyomy. eflodatio
10% erildasliad aadai alellus erasosana
aLiEB0glsTe) AxdoCSimd Ay icranpeE. aeciad
IR0 BOTLCe @A) Gimailago agymowd
adl]l agiglo oo @RAIMIIM Elm
@ ey moem My alldoualaflajman.
31-03-2019-08 s aisogeedninmio
EDVS0CHREN MMDaly aleflmles mye.
6113} T1S106) .

7) adflzgialio, @oGgeaste 2 @ 1. 2@ @rman®
orfl@d endlodlonqy’ almoglegaem. soaud
mdladlom < 1/ 7 epeafladioo made)
a ol almgl@isndm alomonileanmy.
alymvocalslallaanm muoalmaes)
ag®il RIOE @RMIAIOMC dxenainllSkesys:.

8) 50} a @l ase:odless enfimiiongy rundalm
@mlad allomyo eI@lee)m g @0
UETRUD agemEte 7
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9) Anoop, Biju and Shija were equal
partners in a business. On 1-4-2019,

Shija retired from the firm. At the
time of retirement, her capital account
shows a credit balance of Rs. 83,000/,
after all adjustments were made. Pass

journal entries if .

a) Amount due was fully paid off

immediately.
b) Rs. 33,000/~ was paid off

immediately.

10) List out any four items debited in a

deceased partner’s capital account,

[11. Answer any 3 questions from 11 to 14,

each carries 3 scores. (3x3=9) |,

11) The average profits of a business firm was
Rs. 80,000/-. The total capital employed
in the business was Rs. 2.40,000/-. The
normal rate of return of the industry is
10% p.a. Calculate the value of goodwill
on the basis of 4 years purchase of the

super profits of the business.

Score

9) armiad, i), OOnR aQMILD 67
enfinfimqpfloa mjey alEogl g’
1-4-2019 - o nuigg cruaonimaveiiad aflomyo
afiedlenymy aggp wdlenememienio
avsago 83,000 apal afledlesymm cvawr
OOURWIHS DIRIWM @DHHVENEIad
& (&g eroaIMS 96nd. MOS? Ao
Ql @y Moaoaleiemgine egrbemd
agy BBl CREUOUSITTIE:.

a) MEREIMEE Bl OSID O™ alemmow
NGB,

b) 33,000 a1 aoimo £SMS alemmo]
NGB,

10) anemeqg]s 80 aisoglwies oielilm
osevedldd eocwmig e.alegere moef

ENIETRUR alGlOnlSIOEID:.

I11. 11 gyoad 14 cuenw)es calosemglad

age@®lale 3 ag)eREITT QETRORF .
3 empod aflae. (3%3=9)

11) ey snficmfimqy cunoaimaniled vorowed
e1n@o 80,000 mjai@owflaymm;. sDOUMES
snficsimqfies @ped: ajaldbm @SB
2,40,000 oai@oem’. 00 QUHUTOW
aoeuRIilas quowoen (alaloday o
ose 10% avsem. moal cudayemglos
@wWlemeiose QuosTRMEIMEs afleimod

musliad ayeljriidenao 6.00Q%.
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12) On admission of Mr. Suku as a new

partner, the Balance Sheet of the firm

shows Rs. 52,000/- as balance of
Profit and Loss Account on the assets
side.

11 What indicates this balance of

Profit and Loss Account ?

b Pass journal entry for its adjustment.
| Assume that Ravi and Sathi were
the old partners sharing profits in

the ratio of 3 : 1)

13) What do you mean by reconstifution
of a firm ? List out any four cases
which lead to reconstitution of a

partnership firm.

14) Distinguish between ‘Retirement of
a partner’ and ‘Death of a partner’ in

accounting point of view.

Score
12) oy ag)M af@fie alms@ies eleaim

croaens, snimiimqie enwedas adifed
@Rleaes QU ealoadd @R0f ealoms
anaeveden ailesteniossiwowl 52,000

@0 BOBMROMY,

2) elatoadle @R caioms @oesveTElnm e

Aeefenoas agyriiem muallaflemamy ?

b) epaflerd emoeeenloBsimas csademad
a)MIS) GREUEJSYETTYE:.

(@i, croafl agymriicud 3 1 1 eios @om;
gy

LTI 9 08 EsaoaiaimyecLy

@@ ilend)

13) &n; quosaImEmie al}@:voclsm
a@mmgm&om“ ag)moemy @ dmo
20BN 7 alB0gIETH MUOJIMETBEOS

- auosaISM T ERl b mafleeyom

age®eesleljo Moel 002 IOIETE0D

agyFIYR.

14) ‘e amogoyes aledecce’ * 63 1080
WS DEEMARo’ @oerIEdiow) aficmona

e ageenem almegdaamy ?
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IV. Answer any 2 questions from 15 to 17, IV 15 aymab 17 cuenwygg saios)mmglm

. _ agemmlelo 2 agspamia’ Qamease;m;@:.
each carries 5 scores. (2x5=10) 5 aayo koo, Q@ ><65=10}
15) Bindu and Bushra were partners in 15) enflazjao, enyadomio 3: 2 aioe @om,

a firm sharing profits in the ratio of
‘3:2’. They admitted Sundas as a new
partner and their new profit sharing
ratio 1s agreed as ‘4 : 3 : 3’ respectively.
Sundas brings Rs. 2,00,000/- as her
capital and Rs. 60,000/- as her share
of goodwill in cash. Pass necessary
journal entries, assuming that half the
premium amount is withdrawn by old
partners.

16) Roy and Sasi are equal partners

in a hotel business. They started
business on 1-4-2018 with capitals
of Rs. 60,000/- and Rs. 40,000/-
respectively. Their drawings during
the year were : Roy — Rs. 6,000/-,
Sasi — Rs. 3,000/-. The partnership
deed provides for interest on capital
@ 8% p.a. and interest on drawings
@ 6% p.a. The deed also provides
for Rs. 2,000/- per month as salary
to Sasi, for managing the business.
The net profit as shown by the Profit
and Loss Account for the year ended
31-3-2019 was Rs. 1,20,000/-.

Prepare the Profit and Loss
Appropriation Account to show the
distribution of profit. (Assume that
drawings are made evenly at the
middle of every month)

asm@midd enlloilmqy alsose.goens.
@D apeile amogloce] avosom
om enflafimqilad Qdﬁmzjsgmgoea@go,
a il s (eromgn_mmo 3: 3 agom
(-naniidd aloooaieasae e.alg.

arugrsomelwmaoad 2,00,000 aawio,
opuwdled ayess 60,000 oyl atemaowmye
106N UMYOMY. 6B
(afalwe @ye@ies aldefll alyw
UBIgl e afldaiallenymiecumm
omaomeiad apaittimow emdemad
ayDSleid Mt

16) eooeflaye, wflage 6m) Gaoogad snflimsim

Tloal mialy aleogleacem. enaud
1-4-2018 o 60,000 ey, 40,000
®jed ag)om (@aewld ajeiwm ol
alamowaemy’ enfladlmqy evrod @
msa] Ao 0ol 6,000 @eiwie el
3,000 mjni@o aupmon) @OIGETERES
sllodinqfled oflomge aflodaualla)gzens’
agogllor @adlad, ayeiwm alelw 8%
@0@jo, ®aid alefite 6% acwio odel
& iloss cilumelgigiend’, enflmiimqy
emaasfl syt momuceruge 2,000
@t UBlBE MAE0Mgo HMIM alyaUmn
e21gpy 31-3-2019 af eeciovordanm
AUBHOOD 2I0B-May BOHHDVENE]HEl
angense 1.20,000 ojeiwoen

avge aflElsnima@lmow] alsodlom
Moo ¢laloadly ®o @
CRIDMY @RE|addnflcwat® @reHVNE
OYIOTHNB:.  (IBOElEauns edalg
@0l ag)aio @My mwimrsiaerTy
msaigaeamT @M@ TEee: )
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17) Indu, Mini and Latha are partners in
a firm sharing profits in the ratio of
4 : 3 : 1. Indu retires from the firm
as she got appointment as a college
lecturer. After making all adjustments,
the capital accounts of Mini and
Latha showed a credit balance of
Rs. 80.000/- and Rs. 40.000/-
respectively. They decided to adjust
the capitals of the continuing partners

Score
17) ooz, olerdl, aio agyerficud 4 @ 3 0 1

pive Epmialdmemcd eflmimqy wleod
Sg06ns. snaglla’ seses @ow e le-wow
ezeoell aidloalimodd endamfimapdad cfiomze
afiedleanm). ag)g)d (@ale:oemeeRidenio
ewoato dirflopesme eIB@IOS®@Ie DI
anaevedlaf awaldies alaslenosss
80,000 @pal, 40,000 oot agym (@mavs
plo6em. snUD al}@l@ B10BE@OMAII®
O GOAAREMEBOW] QYRIM (¢B:Eldxeemo

in their new profit sharing ratio. onsamod shaymondleairmy.

a) Calculate the new capitals of Mini
and Latha.

a) dioflayesaioe aioxa)eswlo aeiiw
ageimo HlBEmUlens.

b) @rulles: myeiwmo aflddcuellearmail
@O, QYLILMOTIIES SONUSE @b
6)3:06MBIOLIMYMNAREMO @R IEIW
czaternmd ag)iSle(d Mdiayss.

b) Pass necessary journal entries for
bringing in or withdrawal of the
necessary amounts involved.

V. Answer any one question from 18

V. 18,19 sanajsmgled agameleje el
and 19 carries 8 scores.

(1x8=8) (1x8=8)

DOmROTE ). § ampod .

18) Alex and Binoy are partners in a
business sharing profits in the ratio

of 2 : 1. Their financial position as
on 31-03-2018 was as follows :

18) araigyo, siemoniiae 2 @ 1 eoe
@omatomeeiad endmimaqy alesoglegoem
snaies 31-03-2018 ea momierlies

il amoere madesiaidlesom).
Assets Rs. ;

Ryorle.cd @
Cash in hand - 2,500 BOEUDIES IO 2,500
Sundry debtors 35,000 st exwalegeny 35,000
Stock of goods 15,000 Aeosidla] 2l 15,000
Buildings 67,500 el @aousos 67,500
Total 1,20,000 DO 1,20,000
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Liabilities and capital Rs.

Creditors 30,000
Bills payable 10,000
General reserve 20,000

Caprtal accounts:

Alex — 40,000
Binoy - 20,000 60,000
Total 1,20,000

On 01-04-2018, they admitted Seena

1 th .
as a new partner for A share in
future profits on the following terms :

a) Buildings revalued at Rs. 80,000/-.
b) Stock is revalued at Rs. 11,000/-.

c} Creditors to the extent of Rs. 500/-
need not be paid.

d) Seena, the new partner, brings in
Rs. 30,000/- as her capital and
Rs. 12,000/- as her share of
goodwill in cash,

Prepare the Revaluation Account,
capital accounts of partners and the
new balance sheet after the admission
of Seena.

19) Afnan, Ajeesh and Aromal were
partners in a business sharing profits
in the ratio of 3 : 2 : 1. Afnan decided
to retire from the firm as he got
employment at Dubai.

Explain the various accounting
adjustments to be made in the books
of the firm at the time of retirement
of Afnan.

U TR

Score
ENLIOW IS0, BIEKMALYo @y
Blafleqmy 30.000
enfladond eaeniicd 10,000
BB WMo 20,000

QYEK BB VTR (D :

ooy — 40,000

endlecnoy — 20,000 60,000
A6 1,20,000
01-04-2018", mimew anoiw
s oglaoe] %e&o@oﬂm’lmo M @35l
(uadamerlad pBeasiemy. enailacd
QUIUIMNBUD @061 a oMy,
a) snfiddafioudnilend apmesio alel

80,000 @jaiwoeny

b) desilafidla] aleeslando aymsesio ales
11,000 qpoioay

¢) wafleggmile’ cnasomeaaiad SO0 oy
onadesneraaile).

d) ayefle amogleoe mim 30,000/- g
ageiwmadege 12,000 gyt oyaliadadd
ALIEMDOW0 HB06MBIIDYTTY,

ayifle amosioow mimeyes

U tem @0l eruawey
ool eIaYm Groesyend | ale:os]
BRUNS DYLILM BRHEYVENS B, al@flw
a0y adfly agymilad axg0oRe)w.

19) @radmacd, mrefed, @peooad agiomiaud
3:2:1 agym ens eemyalomoiad enfimd
MY aleogiaaoam. gieuoniad ewoal
el€l o aflmoad @radmoad enflmimqflad
ooy lladilenam aflaymond oy,
@Radmodagimaimoslanes alodleanayaod
INLOA|T alB:0glEm MUNdImEdfinnd
BEMBE NYBOIMHEIT MSEADNS (HHall
B0EMETEORHNCLo] Qflcdlea)ss.
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Score
I. Answer all questions from 1 to 3

each carries 1 score. (3x1=3)

1) In a spread sheet, the range Al : AS
contains the following values :
Al =500
A2 =800
A3 =300
A4 =700
A5 =400
Then, what is the result of the formula :
= SUMIF (A1 : AS, "< 500")
a) 1,200 b) 700
c) 2,700 d) 1,500

2) Which among the following is not an
element of gross pay or total eamings 7

a) DA b) HRA
¢) TDS d) TA
3) The identifier of a piece of information
shown in a chart is called
a) Data series b) Legend

c) Plot area d) Z axis

II. Answer any 3 questions from 4 to 7,

each carries 2 score. (3x2=6)

4) Name the financial function used
to calculate the annual depreciation
under the straight line method. Also
give its syntax.

5) List out any four types of charts
available in Libre office Calc.

PART -B
COMPUTERISED ACCOUNTING (20 Scores)

Score

L. 1 amad 3 cusnwygp agigp dalosyssden;o
prmeeawm. 1 sopod allae.  (3x1=3)
1) aqy oy et Al 1 AS speriiaian
@Y alOym aflaisid madalaigens.

Al =500

A2 =800

A3 =300

A4 =700

A5 =400
ag)MOEE, 3N DBLHOM V@I
aled antlo agyrmoidleno ?

= SUMIF (Al : A5, "< 500")

a) 1,200 b) 700

c) 2,700 d) 1,500
2) emdormwrugmdfled /emedd cuomom

eflon caisaapiomme agyd ?

a) DA b) HRA

c) TDS d) TA

3) ey 21088l aflomye Allauessd ldl.o
WM S leworlenm ea1Se:o af® ?
a) &wRo mfidlay b) ezl

C) 605 el d) Zwogry
II. 4 qom@7 cuenw)gg ealoe)Bgla
agemeleyo 3 agEponile’ DO Lm;w:.
2 aapod aflmo (3%2=6)
4) emdaneuo dolwiled cuodalle: ayeliemwo
@ensjafiglenmallal alcwouileanmm
aflonocat @8 a.neriaumd agymoerm ? snaflend
QUIELJPRISM ).

3) elliery evadlny’ woddesind aiemoigas
agemslege moel mre a10dgee8 gl

BESYOTY B,
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6) Identify the system generated ledger
accounts in GNU Khata, from the
following :

a) Closing stock

b) Opening stock

¢) Purchases account

d) Stock at the beginning
¢) Cash account

f) Profit and Loss account
£) Sales account.

7) Write the path for following actions
in GNU Khata :

a) Deleting ledger accounts.
b) Display Balance Sheet.

IIl. Answer any 2 questions from 8 to 10,

each carries 3 scores, (2%3=6)

8) Identify the functions in Libre Office
Cale, for performing the following
tasks :

a) Counts the number of empty cells
in the given range.

b) Calculates the Equated Monthly
Installment (EMI) of a car loan.

¢) Combines several text items in

different cells into one string.

9) Explain the steps for creating a chart
in Libre Office Calc.

10) List out any three special features of the
GNU Khata accounting software.

R AR A

Score

6) &y suormalld cujwo oldagimacal
5168 oaWRd Menveee:dnd e ale
OETITNISIO OB,

a) e@OMSlES GE0es)
b) &qjemilend aguosey
C) audea)jorum’ mrseroens
d) epuossl e @ enflullodlses
€) @ joad ML 6N
f} slaioedly @ el Frsoveme
2) exnalcdm @rseerens
7) &y euoamaldd, @oew

JcudEmmemtbes) @muoudeT zetas
Do aldm NEdd)w:.

e DM

a) oeinird arenterdem avionses T
b) enoeidas ol (aiadudlofend

II. 8 gymat 10 cuenwgg e.alssyrmgled
agie@®leye 2 agepEio HEMRORP ;.
3 eapod allee. (2%3=6)
8) efleru eondimy @omesldd @moey @y
(sl d eaIgmaeloT ga 3w
WD A MR aqemmm
BOETBEVT S |
a} aflvaio euesnialioa afieTm; Slsaanm
DNVRASHRIOS ag)ERo nﬂc’bemmﬁﬂmgcea‘
b) emy @0d saeriledd aom maem arsal
> B6NBial1Slee)s.
¢) aflaflw exrogesslidd maelaigas
OSHLY EDMEIBHE 5l 1beD 6y
QU0 MOBEN.

9) ol Boadin @:0meslad 8ay 21005
DP0IBNM DR MSaISiEasmaid

cUlou dleaed)ies.

10) 2dmy euomm @Reerterdlou’ GroaineClw
Aok agemsiaie qnT OMET (IGDED
b ng) LI,

SSE 50 Accountancy with Computerised Accounting 10/11



I'V]

IR

. Score
Answer any one question from

11 and 12, each carries 5 scores.  (1x5=5)

I1) In Libre Office Calc, Basic Pay (BP)
of an employee, named ‘ Anilkumar’,
is given in C, and the following
calculations are to be performed to
arrive at the gross pay.

a) Calculate DA as 20% of BP, in D,

b) Calculate HRA as Rs. 1,500/- for
BP greater than Rs. 40,000/- and
for others Rs. 1,000/, in E "

c) Calculate TA as 10% of BP for BP
greater than Rs. 40,000/- and for
others 5% of BP, in F,.

d) Calculate the gross pay, in G,.
Give the formula for these payroll

calculations.

12) Write the name of sub-group and

name of group under which the
following ledger accounts included
in GNU Khata accounting software

a) Office building account
b) Petty cash account
¢) Bank loan account
d) Provision for bad debts

e) Sales account.

IV. 11, 12 agordl easomjsonrglad n@a@ﬂeuos core

el gameearime. S eapod . (1x5=5)

11) 2flgn) sx0adlony @xoadasiied ‘ancidd oyaod’
o) Hlamenoseed avslmuadrm
wmlge (BP)C, agym eugllad mados
Rlgiee. @PWIRIeHs HAEm WIURS
idemaiammaiinom @oeY alomyama

63 lISlesnenamyens.

a) D,-@¥ espoasucm (DAY aedounom
wmigemlon 20% aowl eem
H0HE6MOo |

b) E -ddalgaiosssnem(HRA) @oal ard
crunom cauige 40,000 e 1ileb sysjmed
epeemssldd 1,500 aaiwio moegsiad
1,000 ogaicmowll @emaesosasmo.

¢) F,-ad womeruam (TA )} woo! ard)
qoom veaige 40,000 ojaieiad
1S} BRI ad, elotbl
10% aijo meag@)ad 5% apaow
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